APN-P-S 240 (Twin Head)

No. 91-027
, 2006

Mar. 01

63
11
APN-P240 APN-S240
Item Description Q'ty] Remark | Part No. Item Description Q'ty] Remark | Part No.
1 |Pump Head (G%) | 2 | ADCI12 | AP0443 1 |Pump Head(Rc'4) | 2 | ADCI12 | AP0456
2 |Valve 2 | FKM [ AP0072 2 |Valve 2 | FKM [ AP0072
3 | Valve Seat 2 | ADCI2 | AP0524 3 | Valve Seat 2 | ADCI2 | AP0524
4 |Diaphragm 2 NBR | AP0526 4 |Diaphragm 2 NBR | AP0526
5 |Retainer Plate 2 | ADCI2 | AP0527 5 |Retainer Plate 2 | ADCI12 | APO0527
11 |Bracket Cover 2 | ADCI2 | AP0449 11 |Bracket Cover 2 | ADCI2 | AP0449
61 |Screw (S4 equiv.) 4 | M5x10 | AP0505 61 |Screw (S4 equiv.) 4 | M5x10 | AP0505
62 |Screw (S4 equiv.) 8 | M4x10 | AP0452 62 |Screw (S4 equiv.) 8 | M4x10 | AP0452
63 |Screw+W. (Steel) [ 20 | M5x14 | AP0453 63 |Screw+W. (Steel) [ 20 | M5x14 | AP0453
*102 | Fitting (0 14mm) 4 | BSBM | AP0089 100 [Hose 1 | Nylon | AP0543
*103 |O-Ring, P-14 4 | NBR | AP0088 113 |Connector 2 Rc¥ | AP0458
117 [Cap 2 NBR | AP0454 114 |Elbow 2 AP0459
. 2 M AP0448 117 [Cap 2 NBR | AP0454
A |Connect.Rod Unit 5 N AP0447 | Conmoct Rod Unit > M AP0448
Note: Items marked with * are required for ) 2 N AP0447

Hose connection type only.

- ASubject to change without prior notice!

A\ Actual pump may differ from the exploded view!




